————————

4.9 Mpr s tnds, San tonbig lof £ Ainigs, G
Wﬁ/‘ié’()%; MMM;MM

WW&&MWMA a_proge
| Tl tand i e Ay aelliy e

i,
WWCMZ««;WQ M%f«w%h.

&/‘r/'/[t mvm MM Aqaren 7v§ fv 2(4;‘/4

WWW / 47}46 /éw M«‘(‘«w/w' fé/lﬂ—/ A td/

g e gl /l‘a,vé M“CA/:;/ b W . y’*vVltJ’(ﬂ

%J’AM] /L/wuvl/tcm 0“*‘ At 4 ’{'—é[ Al QAVW/

WA

| 7]/‘1 o V= 500 fr°
7 - \ .
Lo A Tl P fgi ot
P [(
lé.’, 2l & I
4= (/0-%{/}'1‘ 1(%"”:;(1+ oy
ﬂz&r M( /1/7/&4/»\1 Ay =
. _ 2 Yoo
V= 900 = X"y ey jez WXL




A= X‘&f"ﬁf}v: x>ttt [ 22 f\
: A A A(X) .,4\ A 6[&1 OO).
@ éh//’ J‘*""‘C Lg ) - 2090 7u5v 20040
. A (XT= <X — T b
‘ X x* J

e e iy a oAl pind pAan 13’-2000\‘0

X = /000 <= 10 47,

Vas 7{3‘:{000 al

f@ o0 )1

6."‘"( Y 7

connndes A’

(9,10) ) '(103-00) m‘;‘Jf

R ————

TEST VALUE 4

5

20

Allh)

2(1)*- 2000

2 {20) 3

o990

L, 000

(U~

(20)*

$o0

s o o

A’ (%)

—

+

e ]

Alx) DEC

1vC

D E——

N——

A,g%

A S

6 Leal Ui ot x=10 ”fr ¢

A(10) =

(to) *

+ 2400

loQ + 208 =

3
Eﬂa/r.,

(to)

A

ol

Ll

-
AR,

Sen (4, oo) pl nee JA?’ /C/F zétwo[ ML A

//N,/Y Lo o '{*‘":t ”{ !( 1T .

=

il

MA’)% %@@/BWW%

W /A“/L/-V’tﬂ(l/(&«ﬁ/ﬂ(’m x = 10/7’

-
o —
S

/&

> if»f/i*' 2149

- f/l »

B NET) M

|
]

{
|
{

5,



